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ANIMAL BIOTECHNOLOGY
[Theory]

Answer any two of the following: 2x15=30
1. a) Describe the cloning strategies in any plasmid vector with proper flow diagram.
b) State the difference between plasmid and cosmid vector. (10+5)

2. What is restriction endonuclease? What are the types of restriction endonuclease? State
its application in recombinant DNA technology. Write a note on Cystic fibrosis.
(3+5+2+45)




A

3. Describe the mutation in Hbb gene behind Sickle cell anemia. What are the symptoms
of Sickle cell anemia ? Comment on its inheritance pattern.
5+ 545
4. Elaborate the mechanism of development of transgenic organism. state its
application. (10 +5)
Answer any one of the following: 1x10=10
5. Describe dideoxy method of DNA sequencing in details. 10
6. Write short notes on i) DNA fingerprinting 1ii) Polymerase Chain Reaction
(5+5)
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[Practical]

Answer any one of the following: 1x20=20

7. Describe principle and procedure of genomic DNA isolation from E. coli.
(20)

8.  Write down the principle behind 1) Southern Blotting ii) Western Blotting
(10+10)

9. You are digesting a circular plasmid DNA molecule of size 10.5 kilobase pairs
(kb). When you digest this plasmid with restriction endonucleases BamHI, EcoRlI,
and HindlIIl, singly and all possible combinations, you obtain linear restriction

fragments of the following sizes:

Enzymes Fragment Sizes (in kb)
BamHI 73,32

EcoR1 10.5

Hindlll 5.1, 34, 2.0

BamHI + EcoRI 6.7, 3.2, 0.6

BamHI + Hindlll 4.6,2.7,2.0,0.7, 0.5
EcoR1 + HindlIll 4.0, 34, 2.0, 1.1

BamHI + EcoRI1 + Hindlll 4.0, 2.7, 2.0, 0.7, 0.6, 0.5

Draw a suitable restriction map. (20)
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BamHI 7.3,3.2

EcoRI 10.5

Hindlll 5.1, 34, 2.0

BamHI + EcoRI 6.7, 3.2, 0.6

BamHI + Hindlll 4.6,2.7,20,0.7, 0.5
EcoR1 + HindlIll 4.0, 34, 2.0, 1.1

BamHI + EcoRI + Hindlll 4.0, 2.7, 2.0, 0.7, 0.6, 0.5
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REPRODUCTIVE BIOLOGY
[Theory]

Answer any two of the following: 2x15=30

1. Enlist the different modern contraceptive technologies and briefly mention the successful

efficacies of two such techniques. 5+(5+5)

2. Write the kinetics and hormonal regulation of spermatogenesis.
(8+7)

3. Briefly describe the fertilization process of human highlighting the acrosomal

reaction and the problem in implantation. (9+(3+3)

4. Describe the development of Graafian follicle and Oogenesis with reference to

hormonal regulation of ovary. (8+7)
Answer any one of the following: 1x10=10
5. Describe the uterine changes during menstrual cycle with diagram. 10

6. Write down the process of in-vitro fertilization and mention its limitation.
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[Practical]
Answer any one of the following: 1x20=20

7. With labeled diagrams, mention different histological structures of mammalian testis and

ovary. Write down the respective identifying characters. 10+10

8. Describe the enumeration methods for assessment of sperm density in unit volume in

mammalian system. 20

9. Schematically represent the impact of pituitary gland in determining the reproductive

cycle of females. 20
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INSECT, VECTOR AND DISEASES

[Theory]
Answer any two of the following: 2x15=30

1. Briefly highlight the structural excellence of a compound eye of insect with suitable

diagram. Enlist the different control measures for Mosquitoes. (10+5)

2. Describe the asexual cycle of Malarial parasite. Write causative agent and symptoms

of Dengue fever. (10+5)

3. Mention the characteristic features of order Diptera and Hemiptera with suitable

example. Add a note on the role of Fleas as vector. (10+5)

4. Elaborate the life cycle of Leishmania donovani. Describe the biting and chewing

type mouth parts of an insect. (10+5)

Answer any one of the following: 1x10=10

5. Differentiate a Carrier from Vector with suitable example. Describe the different

types of Antenna of Insects. (5+5)

6. Briefly discuss the transmission and prevention procedures of Chagas Disease.

(5+5)
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[Practical]

Answer any one of the following : 1x20=20

7. Answer the following :

a) Identify the following insect along with its systematic position and identifying

characters. (1+2+2)

b) Identify the insect along with its systematic position and identifying characters.
(1+2+2)




¢) Identify the insect along with its systematic position and identifying characters.
(1+2+2)

d) identify the type of the mouthpart in the insect and write down the names of each
parts. (1+4)

8.  Answer the following (5x4=20)

a) Identify the insect along with its systematic position and identifying characters.
(1+2+2)




b) Identify the insect along with its systematic position and identifying characters.
(1+2+2)

c) Write the role of the following vectors in disease transmission. (5)

d) Identify the type of the mouthpart in the insect and write down the names of each
parts. (1+4)




Answer the following (5x4=20)

a) Identify the vector with systematic position .Mention its control measures

©)

b) Identify the insect along with its systematic position and identifying characters.
(1+2+2)

c) Identify the type of the mouthpart in the insect and write down the names of each

parts. (1+4)




d) Write about the disease transmitted by this vector (5)
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